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The purposes of this exercise are: T N—
(1) To understand the limitations of a raster data structure
(2) To be familiar with the basic operations of spatial analysis:
buffer and overlay.
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(bUﬁ:er), Overlay OperatiOnS to manua”y produce 3 raster 1 = FAULT = OTHER 1 = GAS PIPE = OTHER 1 =10 people 2 =20people 3 =30 people
map showing areas that are at risk and calculate the
population that are at risk. Show your work. (Some blank
work sheets are provided. Light table may be helpful for
overlay.)
(2) Discuss the advantages and limitations of raster structure
that you find during this exercise.
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total: 116*10 = 1160



